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N :
"9 Namespace stq.

LNT main()

{

int meaningOfLife = 42;

return 0;




3apgava 1. [la ce NOCTPOU MHOXKECTBOTO OT UmMdppuTe Ha egHO Yncno. [a ce
Hamepu BPOAT NOBTOPEHMA HA BCAKA egHa OT undpute my.

Mpumep:

number = 3837407

MHoxecTtBo oT undpure: {0, 3, 4, 7, 8}

Bpoi1 nosTopenus: {(0, 1), (3, 2), (4, 1), (7, 2), (8, 1)}

NMpumepHO pelleHue:

#include <iostream>
using namespace std;

int main()

{

cout << "Task one: << endl;

bool digits[10] = {false};

/*
A bool array. If digits[@] = true, it means that we have
the digit © in the number. If digits[1] = false, it means
that we don't have the digit 1 in the number, and so on.
At first, the whole array has value false.

*/

int n = 2834368;

while(n != @) // Go through all the digits of n

{
digits[n % 10] = true;
/*
The first digit of n (from right to left) is 8, so we
give digits[8] a value true.
*/
n /= 10;
}

cout << "{ ";

// Print the set of digits
for(int i = ©; 1 < 10; i++)

if(digits[i])
{

cout << i <« ;
// For example, if digits[8] == true, we print 8

}

cout << "}\n";

cout << "Task two: << endl;

int digitCounter[10] = {0};
/*
Pretty much the same, but if the count of eights in
the number is 3, the value of digitCounter[8] will be 3.



*/

n = 2834368;

while(n != @)

{
digitCounter[n % 10]++; // Increase with one
n /= 10;

}

cout << "{ ";
for(int i = 0; i < 10; i++)

if(digitCounter[i])
{

}

cout << "("' << i< ", << digitCounter[i] << ") ";

}
cout << "}\n";

return 0;

3agaua 2. [la ce npoBepu Aanu eamH CUMBOJIEH HM3 e NanHApPOM (aanu

NpoYeTeH OTNABO-HAZAACHO € CbLLMA, KaTo NPOYETEH OTAACHO-HaNABO).

Mpumep (6e3 Aa oTuMTame NpenuHATENIHU 3HALLU, UHTEPBA/IU, PA3/IMKA

MeXay ronemm u manku 6yksm):

,Hacmna 3akapaxa ceBmHeTe HM B Caxapa” — Ka3a JlncaH.

A3 0bmyam mau n 603a.

NMpumepHO pelleHue:

#tinclude <iostream>

using namespace std;

int main()

char c[] = "azobidammadiboza";
int len = strlen(c);
bool isPalindrom = true;

for(int i=0; i<len/2; i++)

{
if (c[i] !'= c[len - 1 - i])
{
isPalindrom = false;
}
/*

For example, the length of c is 16.



First we check if c[@] == c[16 - 1 - @],

so if c[@] == c[15]. After that if c[1] == c[14]
nd so on. We change the value of isPalindrom
only if the symbols are different.

*/
}
if(isPalindrom)
{
cout << "The string is a palindrome." << endl;
}
else
{
cout << "The string is not a palindrome." << endl;
}
return 0;

3apaua 3a pasmucoba: Nporpama, KOATO NpecMmaATa AeTePMUHAHTa Ha MaTpuua
3x3.



